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Convert:
Q1 8m 29 cm to cm

Q2 956 cm to m

Q3 88 km 70 m to m




Q47000 ml to 1

QS A fruit vendor has the following weights of fruits:

2 kg of apples

1kg 5 grams of bananas
750 grams of grapes
500 grams of oranges

a) What is the total quantity of all the fruits?

b) Convert the weight of grapes and oranges into kilograms.

¢) Which fruit is heavier: apples or bananas?

Q6 Write the amount in words.
a) T 78.09

b) Z 54,60




DIRECTION : In question number 7, a statement of Assertion (A) is followed by a statement
of Reason.Choose the correct option-

a) Both Assertion and Reason are true and Reason is a correct explanation of Assertion.

b) Both Assertion and Reason are true and Reason is not a correct explanation of Assertion.
c) Assertion is true but Reason is false.

d) Assertion is false but Reason is true.

Q7 Assertion (A): A 50-rupee note is worth more than five 10-rupee notes.

Reasoning (R): The value of money depends on the number of notes, not the amount written on them.

Q8 Identify the rule and fill in the blanks.
a) Za 4a 6a 8a ] ) )

b) 100, 90, 80, 70, , ,

¢) A1, B2,C3,D4, ,

d) Abc, bed, cde, def, , , ,

Q9 Write the time as shown on the clock in two ways.

Q10Convert the following into minutes.
a) 11 hours




b) 5§ hours 20 minutes

Q11 Meera was born on 18th June 2013.

a) How old will she be on 18/06/2018?

b) On what date will he be 9 years old?




BRAIN INTERNATIONAL SCHOOL

[ SESSION 2024-25 ]

CLASS II1 ANNUAL EXAMINATION REVISION SHEET- 2 SUBJECT- MATHEMATICS

NAME- CLASS- DATE-

Q1 Tick the correct answer:
1) 100m =
a) lcm b) 10000cm ¢) 1000 cm d) 10cm

2) Which is the best unit to measure the weight of an elephant?
a) km b) cm ¢) kg d g

3) How many months in a year have 31 days?

a)s b) 6 )7 d) 8

4) The shorter hand on the clock is known as the hand.
a) hour b) minute ¢) seconds d) none of these

5) S3pxS= p
a) 265p b) 260p ¢) 275p

6) 0.09 is equals to:
a) 90 paise b) 9 paise ¢) 10 paise d) 900 paise

7 1,3,6,10,15,
a)16 b) 17 )18 d) 21

Q2 The cost of chocolate is 56 paise. What will be cost of 5 chocolates.




Q3 Rahul’s mother gave him X 897.32. His father gave him X 23.12. How much money did he have in
all?

Q4 Siya buys 4 kg vegetables, 3 kg fruits and 1 kg ice-cream. How much weight is she carrying?

QS5 Convert into litre:
a) 5000 ml

b) 7495 ml




Q6 Tina danced for 4% hours. For how many minutes did she dance?
Q7 Heena have her drawing class: 5:15 p.m. to 6:50 p.m. and she watches TV: 6:50 p.m. to 7:15 p.m. Find:

a) Duration of drawing class in minutes.

b) Duration of watching TV in minutes.

c) Total duration in hours.

Q8 Identify the rule and extend the pattern.
a) OX, XX, 00, OX, , ,

b) 10ab, 20cd, 30ef,

c) 100, 95, 90, 85,

Q9 Fill in the blanks

a)3 km = m
b) km = 6000 m




DIRECTION : In question number 10, a statement of Assertion (A) is followed by a statement
of Reason.Choose the correct option-
Both Assertion and Reason are true and Reason is a correct explanation of Assertion.
Both Assertion and Reason are true and Reason is not a correct explanation of Assertion.
Assertion is true but Reason is false.
Assertion is false but Reason is true.

Q10 Assertion (A): The pattern 2, 4, 6, 8, 10 follows the rule of adding 2.

Reasoning (R): In a number pattern, if we add the same number each time, it is called skip counting.
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Q1 Tick the correct answer:

1) 500 ml=11.
a) 3 b) 2 ¢) 10 d) 4

2) The most appropriate unit to measure distance between two cities is :
a)km b) cm ¢) kg d g

3) There are days in three weeks.
a) 14 b) 21 ¢) 30 d 7

4) What do we call a year that has 366 days?
a) Leaf Year b) Late year ¢) Leap Year d) Long Year

5) Choose corret sign: 275p % 2.75.
a)< b) > c)= d) None of these

6) S pis equal to :
a)I s b) X 5.05 ¢) 2 0.05 d) eitheraorb

DIRECTION : In question number 2, a statement of Assertion (A) is followed by a statement
Reason.Choose the correct option-
Both Assertion and Reason are true and Reason is a correct explanation of Assertion.
Both Assertion and Reason are true and Reason is not a correct explanation of Assertion.
Assertion is true but Reason is false.
Assertion is false but Reason is true.

Q2 Assertion (A): There are 60 seconds in a minute and 60 minutes in an hour.

Reasoning (R): The clock is divided into 12 equal parts, so each part represents 5 minutes when the
minute hand moves.




Q3 Rita has to pay X 799 as her dance fees. Her father gave her ¥ 478.00. How much more money does
she need to pay as her dance fees?

Q4 a) Solve:

b) The cost of one toy camera is X 43.20. What will the cost of 6 such camera’s?

QS This is the menu card of Raja- Restaurant.
RAJA -RESTAURANT

Pizza X 45

Coffee X 15

Cold drink X 20

ChipsX 10

a) Sania ordered 3 chips and 1 pizza. How much money she will pay?




b) Ramesh ordered 1 coffee and 1 cold drink. How much total she will pay?

Q6 How many:
a) 100 g will make 1 kg?

b) 50 g will make 500 g?

Q7 A milkman has 10 liters of milk. He sells milk to different customers as follows:
® 315 ml to the first customer

® 2125 ml to the second customer

® 1175 ml to the third customer

a) How much milk he has sold in total?




b) Convert the second customer’s milk into milliliters.

¢) How much milk is left with the milkman?

Q8 Draw the hands of the clocks to show the time.

Quarter past 3 Half past 11

Q9 write the dates in two ways.
a) January 26, 2001

) March 10, 1973




Q10 Reema is 7 years older than Raman. Raman was born in the year 2005. When was Reema born?

Q11 Identify the rule and extend the pattern.

a) 52, 44, 36, 28,

b) AA, AB, BA, AA,

¢) allc, d22f, g33i, j44l,

d) 2A, 4C, 6E, 8G,




